S T UDY OCENTRE
MENSURATION - 3D ASSIGNMENT

The curved surface area of a right circular cone of height 15 cm and base

diameter 16 cm is

15 G186 e wgupd 16 G&F8 allLapd OC&mTewi @  GhTaulLd  FnlbdiNer
GUGMGITLITLIL|

a. 60z cm? b. 68 7 cm? c. 1207 cm? d. 136 7 cm?

The ratio of the respective heights and respective radii of two cylinders are

1:2 and 2:1 respectively. Then their respective volumes are in the ratio.

Brenih o (Hevendeler o wigmiseT (peompGui 1 : 2 wBBID SleuBBleT SLIHIS6IT
weoBCw 2 : 1 gaw aldlsrisefed(mlilesr, SluBmlear S Sienedeier alslg D
a.4:1 b.1:4 c.2:1 d.1:2

If the total surface area of a cone of radius 7cm is 704 Cm?, then find its slant

height.

7 G185 ouueLw @ Swibler  Qurdsiugiy 704 Q.52 eefled  SigHent
Fmuuyib?

a.32 cm b. 25 cm c.20 cm d. 24 cm

4 persons live in a conical tent whose slant height is 19cm. If each person
require 22cm? of the floor area, then find the height of the tent.

gy 19 G&.10 2 LW @@ dnlblelgel Fnl TTHHer 2 66 @ BUHDHEG 22
g.05.15 Cxhewouwimerr UL el OdTeni(h 4 BUTH6T E(HHSEBEIT 6160160 FnlDLIl6GT
® _WJLD 6T60T60T7

a.18.25 cm b.17.5 cm c.12.25 cm d. none of these

If the ratio of radii of two spheres is 4:7, find the ratio of their volumes.

B Garmenmisellen omiseier aldpd 4 : 7 el SeuBMlell Heol  Hieneledn
&l HLD
a.16:49 b. 64 :49 c.16:343 d. 64 :343

The difference between T.S.A and C.S.A of hemisphere is
SImTECHTeNHHlT  OCoTHSLILFILTIBEGD  WwBBID  suemeTiLFUIIBGL e Cuwi  Syer




a. f7rR3 b. g7rR3 c. 3r°
3 3

A lead pencil is in the shape of right circular cylinder. The pencil is 28 cm
long and its radius is 3 mm. If the lead is of radius 1 mm, then find the

volume of the wood used in the pencil.

R Oueidlevrengdl o GBT el 2 (Hewel augalled 2 6ifengl. GueaFleder mHerd
28 Q515 BB ST b 3 WS GueaidlelaneT  DMWbHS  emLoUTest
(Fgm.eoul)-er sugb 1 WS etefley, OQuenidFled  Hwmflds  UwWETUGSHSUILIL L
LOJLILeVENSBUTGT H6oT SieTTen6ldh SIS,

a.7.04 cm3 b. 8.04 cm3 c. 7.4 cm3 d. 8.04 cm3

The radius of a spherical balloon increases from 12cm to 22cm as air being

pumped into it. find the ratio of the surface area of the balloons.

12 Q.15 ougapeiten Gsmem algel LML STMM CFISSILGL CuTghl  SiFHei
o 12 G185 60 @mbaH 22 0515 95 JFHeNESILGHBH  6leled Sieual(m
HlemeuH6MeD LIGVTEIH6NM 6T aueneTUILTLIL all&lSHD

a. 144:484 b. 36:121 c. 48:88 d. 9:55
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Volume of a hollow sphere is cm’. If the outer radius is 8cm. Find the

inner radius of the sphere.

@ o eTeiLBn Camenssler Hear D66 g &.05.15 oBpId oiHer Geuel SLILD

8 QF.15 earlleD, DIHCHTETHHI 2 61T DTHWBHD HTCIS. (7Z'=§6T6I.ﬂ85)

a.7 cm b.5 cm c.10.5 cm d.12 cm

If the radii of the circular ends of a frustum which is 45 cm high are 28 cm

and 7 cm, find the volume of the frustum.

45 QF.16 2 _wypeien QT EenLSHewiL SHHel mH UB JmiseT (wempGuw 28 GF.16
BLID 7 OF.15 elelled, EeWL HHWIL HHOT S D66

a. 48410 cm3 b. 47610 cm? c. 47310 cm? d. 48510 cm?

A play-top is in the form of a hemisphere surmounted on a cone. The
diameter of the hemisphere is 3.6 cm. The total height of the play-top is 4.2
cm. Find its total surface area.

@@  elemenwr (b ubugworeigk  (Top) &nbler s owrECasTend @emenibhs
algaled o 6ilengl. DMISHCHTeTGHHe @l L b 3.6 GF.0 wBmID LbUTSHHT OLoTHS
o wgb 4.2 OF.15 elelled DiHeT GOTHSHL LBLILTLIDLIS SHT6wIsb.

a.12.33 zcm? b.11.887z cm?2  ¢. 14287 cm?  d.13.687 cm?
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A hollow cylindrical pipe is of length 40 cm. Its internal and external radii are
4 cm and 12 cm respectively. It is melted and cast into a solid cylinder of
length 20 cm. Find the radius of the new solid.

R 2 6efLmm 2 (Hhewem eaugeud GWTule Hemd 40 GF.16. 9IHST 2 6T LBBID
Oeuell oImIBeT (WeBGW 4 OF.15 wBpID 12 GF.15 SeualeTefBB o (Hevend
STl 2 mESUULBH 20 5.5 penpetenm Hewio GBT UL o (HeMeTuITs
LMBoBIbCUTEH S HGID UHW 2 (Hewenulea! LTHeNHd HT6wIH.

a.16 cm b.12 cm c. 18 cm d. 24 cm

Curved surface area of solid sphere is 24 cm? If the sphere is divided into two
hemispheres, then the total surface area of one of the hemisphere is

R  Hewind CarendHer euemenugly 24 QF2  obFH  CamendHmm B
SIJECasTenmBeTall  LflHmed S s  ewjsBarenmiseled  eevinsles
QLTS SUTLIL

a. 12cm? b. 8 cm? c. 16 cm? d. 18 cm?

A cubical block of side 7 cm is surmounted by a hemisphere. Find the surface
area of the solid

7 QF15 LUED SleeyelTeNn FHAFFHTHH WBH T DIwIHEsTeND GUIT(HHIHU|6TENGI.
GTel6L  DISHAHTILDSHSH 6 LIBUILITLIL| SHT6w0I5.

a. 343 cm? b. 332.5 cm? c. 313.25 cm? d. 322.75 cm?

Two circular cylinders are formed by rolling two rectangular aluminium
sheets each of dimensions 12m, length and 5m breadth, one by rolling along
its length and the other along its width. Find the ratio of their curved surface

areas

12 8 menwb, 5 5 o@D  Oamewi &m0 OFelas  allgel
SIVIONULISSHTOTHMET  Q6TenB  HTHMS DQUIIMLWTES  CaTemiB, LoBOBT6IDI
DBVHMS  SlglidLwnTd  OEmewibld  SpBmieusear  cpeold B GhiTeul L
© (HEWENH6NT 2 (HeUTHSLILBSBeT 6l6fle0 DieuBMlel eueeTUILTLILGBEHSEG enl Gul
OIN0) (0 MOV A 5T)

a.12:5 b. 5:12 c.25:144 d. None of these

The lateral surface area of a cube of side 12cm is
12 Q5.0 uss el @ SOIFFHITHI 6 LSSUILFLIL?
a. 144cm?2 b. 196cm?2 c. 576 cm? d. 664cm?

Find the cost of renovating the walls and the floor of a hall that measures 10m
x 45m x 6m. If the cost is Rs 48 per square meter.
105 X 45 1§ X 6 15 ufoTewimsemeT 2 LUl @(h SidBulledl ST LOBBID HeDJ

USIINSSILGSHBH. @ FHT WL (HEG h 48 eealed, G CrHHF GCFeve,
616116)61T6)] ?

a. Rs. 51180 b. Rs. 52,380 c. Rs. 53380 d. Rs. 53280
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Three metallic cubes of side 3cm, 4 cm, and 5 cm respectively are melted and

are recast into a single cube. Find the total surface area of the new cube.

3 Gg.5, 4 Q5.5 5 G510 ubsd DEMADLU QIH SIFFHTHDH 2 (HhHSH 6(H
WP HOTFHTD CFwiLLLTeO DiHeT GoTshsruyi?

a. 343 cm? b. 125 cm? . 64 cm? d. 216 cm?

A container is in the shape of a cube of a side 20 cm. How much sugar can it

hold?

R UTHAHTD SHOIFFHT alalaleTend. HHT LSS e 20 6F.0 g
(PIRGUGIOTS 616116166 FTHHm] OlBMeiTEHD?

a. 6400 cm3 b. 5600 cm3 c. 400 cm3 d. 8000 cm?3

An oil funnel of tin sheet consists of a cylindrical portion 10 cm long attached
to a frustum of a cone. If the total height is 22 cm, the diameter of the

cylindrical portion be 8cm and the diameter of the top of the funnel be 18 cm,
then find the area of the tin sheet required to make the funnel.

@M  Smblel  @QLdsewiLld, 10 Q&8  pempelien QT o (HEWETUL 6ol
BDemeibBLILLLL  elewiOerlIll  Ueolevlesm  QGomdhsd o wglb 22 GF.15 oG
o mewenmuledr el Lid 8 OF.5 wBmIb yeiedler Cumus el L 18 GF.15 erefev,
LeoTeney 2 (HouTdhsd CHemeuwlmel HBJ S edL Ullel UTLIenLd SHTewIsb.

a. 782.57 cm? b. 77257 cm? c. 778.57 cm?2 d. 767.57 cm?

A conical flask is full of water. The flask has base radius r units and height h
units, the water poured into a cylindrical flask of base radius xr units. Find
the height of water in the cylindrical flask.
(PIDEMLOWITS  HITEL BIFDLIUETEN (h &nlbl 6eugeud GhHeeuulledl SOLTID 7 DIGVESHSH6I
BDBID o Wb 1 DeVGH6T QG BITOIH X DI6OGEH6T  QYI(LP6iTen  LBOMT(H
® (HEwe algald GBHemaud@ IBMBULLLTE BifledT 2 WD SHTewnisH.

h 3X h h
a. — b. = C. — d. —

3X h 3X 3X

Radius and height of a right circular cone and that of a right circular cylinder
are respectively, equal. If the volume of the cylinder is 120 cm3, then the
volume of the cone is equal to

o GChiau’Ld gniby wBpid GhiTeu’ L o (Hemenule SO 2 wFpd (penmpGul
FIo 2 _(Hewenuilel &t ojee] 120 0F.15° elafled, dnlDLlT ST 66

a. 1200 cm3 b. 360 cm? c. 40 cm? d. 90 cm?

If the total surface area of a solid hemisphere is 12zcm? then its curved
surface area is equal to

12 7 Qa.15°CrSSOIUTTIL QEBTeRIL Hewio SIeNJHGHTHH 6 aUMGITLTLIL|

a. 67 cm? b. 247 cm? c. 367 cm? d. 87 cm?.




A solid having six equal square faces is called a

a. cube b. cuboid C. square d. rectangle
OB FHITUUSHSRISENTE0 LT 6 HewroBLo DG LD.

a. BIEFFHITID b. saEFGFaiaImD c. ggagb  d. GFeleusld

The quantity of space occupied by a body is its

a. area b. length c. volume d. TS.A

@ wluflioment o (haud LBoeuaiuled DmLSHHH CBT6TEHD 66

a. UJLiLiene) b. Bemb  c. BT Hlenay d. Qurssi ypriugliy
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